Subject: Re: Kalman low efficiency
Posted by Susanna Costanza on Wed, 06 Jul 2011 10:51:48 GMT

View Forum Message <> Reply to Message

Hi Christian,

| made the test you suggested, initializing the GeaneTrackRep with the MC position and
momentum values.

The results are in the plot attached: the red histogram is the input one, with the MC values; the
blue one is the Kalman output.

Also with the true values as input, the results are not good...

Any suggestion?

Ciao,
Susanna

File Attachnments

1) 300MeV_MCseeds. pdf, downl oaded 323 tines
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